DIF@CUS

v A W N =

www.dfocussystem.com

| DFOCUS USER GUIDE

RIS

TABLE OF CONTENTS

CONTENTS & ACCESSORIES

HOW TO: USING WITH RAIL SYSTEM AND D|MOUNT

HOW TO: GEAR PLATE REVERSAL AND GEAR TENSION ADJUSTMENT
HOW TO: USING D|GEARS AND THE D|CRANK

PARTS VIEW



PACKAGE CONTENTS |

1 D|Focus v3 3 Logo Sticker
2 1/16 Hex Wrench 4 Info Sheet

OPTIONAL ACCESSORIES |

D|GEAR

Standard 32 pitch (0.8 mod)
Universal Lens Gear

http://www.dfocussystem.com/gears.html |

D|CRANK

Standard speed crank for D|Focus or other
follow focus

http://www.dfocussystem.com/crank.html |

D|MOUNT

Quick rail-free D|Focus mount for
DSLR cameras

http://www.dfocussystem.com/dslr.html |

PAGE®| DFOCUS USER GUIDE



DF@CUS

HOW TO:

USING WITH A RAIL SYSTEM |

First loosen the thumb nut located on the bottom of the rail mount. Then
slide the rail mount on to the front of the rail system. Align he drive gear
with the lens gear, and tighten the thumb nut.

@© ONLINE TUTORIAL AVAILABLE

USING WITH THE D|[MOUNT |

First remove the rail mount. Then rotate the gear plate assembly 90
degrees relative to the slider. Attach the slider using the thumb screw
included with the D|Mount. Align the drive gear with the lens gear and
tighten the thumb nut.

© ONLINE TUTORIAL AVAILABLE

PAGE@ | DFOCUS USER GUIDE



DF@CUS

HOW TO:

REVERSING THE GEAR PLATE |

First remove the reference wrench from the gear plate. Then remove
the (2) 5/8 flat head cap screws from the gear plate. Flip the gear plate
over, reinstall the two flat head cap screws and replace the reference
wrench.

ADJUSTING THE GEAR TENSION |

The gear tension can be adjusted using the nylon locknut on the drive
shaft. D|Focuses ship with optimal tension and should not require
adjustment out of the box. However with use over time it maybe
necessary to tighten or loosen the nylon locknut.

7

PAGE@ | DFOCUS USER GUIDE



DF@CUS

HOW TO:

USING D|GEARS* |

First install the appropriate size legs for your lens. Then slide the
D|Gear on to the front of your lens and secure to the focus ring using
the thumb screw, rubber band, or zip tie.

@© ONLINE TUTORIAL AVAILABLE

USING THE D|CRANK* |

The D|Focus is equipped Arri standard accessory in the knob. To use the
D|Crank or other standard accessory insert the connector into the port.

I~, oF

* OPTIONAL ACCESSORIES

PAGE@ | DFOCUS USER GUIDE



10

11

12

13

14

15

16

17

PAGE@ | DFOCUS USER GUIDE

DF@CUS

MARKING DISC
REFERENCE WRENCH
GEAR PLATE

5/8 FLAT HEAD CAP SCREW (X2)

NYLON LOCKNUT
MITER GEAR

KNOB SHAFT

DRIVE SHAFT

3/16 WASHER (X3)
DRIVE GEAR

SLIDER

1 1/4 CARRIAGE SCREW
RAIL MOUNT

THUMB NUT

GEAR PLATE MOUNT
3/8 FLAT HEAD CAP SCREW

KNOB

PARTS VIEW |

MORE INFO |

° Video turtorials and guides available at: http://www.dfocussystem.com/support.html

n Questions or comments contact: dfocusinfo@gmail.com

k Visit our webiste at: http://www.dfocussystem.com




